LZREE

No.1
ERARA Z2E g By | Z98E | EEHE w5 =
i WzEALTH [HPPE(EFZ O A ZEE) L=5.00m ¢ 200 PN 19
BlKEMET " ¢ 100 PN 1
HPPE(E%) L=5.00m ¢ 200 PN 5
" $ 100 PN 1
" 75 PN 1
HIRRVP (A4 ¢ 150 PN 1
HiVP  L=4.00m ¢ 150 PN 1
" 75 PN 1
EFRUKR (M52) @ 200 x 45° & 6
" $200%x22° 1/2| & 1
" ¢ 100 x 45° & 1
" $75%x22° 1/2 | 1@ 1
EFRUR (F%2) @ 100 X 45° 1& 1
EFF—X (M%) $200% p150 | {& 1
" $200%x ¢ 75 & 1
EFF—X(F %) $200% 200 | {& 1
" ¢$ 200 % ¢ 100 & 1
EFVvk ¢ 200 {& 2
" ¢ 150 1& 1
" ¢ 100 & 1
" 75 1& 1
EREERAANEHEPxV) b 75 % 45° 1& 1
AHEIHE (BEER) ¢ 75 x 45° & 1
PVIaqf Uk ¢ 150 1& 1
" $ 100 1& 1
vSafrk b75 =& 1
AhEE(RUER) ¢ 200 1& 3 KERABRAIEED
AhERGEEER) ¢$ 100 1& 2 RExTH
BERRHLEE R (DY) ¢ 150 1& 1
BRI —bk W=150S m 135.3 80.0+35.1+6.0+2.2+5.9+1.2+4.9




LZREE

No.2
ERARA £ ¥R b3 LS B | 4U8E | EEHE ® =
HEIFRBHE T ¢ 200 FHIRTEEYIN - LIS (S8 ER) | $200x ¢p150 | & 1
AHBTSUUEE(EEER) ¢ 150 1@ 1
TS UMEM ¢ 150 #H 1
TUHE H=800 #H 1 ¢ 1508
PESEL OV I —IL 815 GRUER) ¢ 200 = 2
TUHE H=800 #H 2 ¢ 200/
HYIHRE T ¢ 150|PEFEL O YT — LR (RUER) ¢ 150 = 1
TUHE H=800 #H 1 ¢ 150
HYIHRE T ¢ 100|PEFEL O YT — LR (RUER) ¢ 100 = 1
TUH=E H=900 #H 1 ¢ 100F8
HUHBEL ¢ 75|PERELOFMY TN — LR RUER) @75 -4 1
TUHE H=800 #H 1 ®75H
ERFREL |/MNEKRHF 25 = 1 AIRD H
YRILF S KEGRUER) $200x ¢ 25 1@ 1
ERFHRVIR H=500 #H 1
BAKGIBIT  |YRILEDKEE GRUER) 200 x ¢ 40 1@ 1
" ® 200 % ¢ 25 1@ 1
SKX4r bk AV vk (BEER) @40 & 1 XREEmMULE
AL AT 25 & 1
HiV7 vk b 25 & 1
HIZJLAR b 25 & 2
SKXTLR(BEEERA) 40 & 2 XRFmLLE
HIVP  L=4.00m ®40 X 1 1.0m#AER(1.0m X 144)
" 25 V. 1 2.5mTAE%(2.5m x 144)
BRI —bk W=150S m 2.5 2.5mAAER(0.5m X 1. 2.0m x 1)




FHE

No.1
BRIR4 E2E g BHOHBE|TEHE B &
e BeENETR|RIIFLOERRT $ 200 m 115.1 80.0+35.1
EKEMBRT " 100 m 6.0
" 75 m 2.2
E-——ILEHRZT @150 m 5.9
@75 m 12
RUIFLUOERF I (RBEES) $200 1A#MF | O 21
" $100 1O0#F | O 2
RVIFLUERFI (RUEES) | 0200 20#F | & 11
" $150 208 F | & 1
" $100 20#F | &FT 2
" ¢75 208F | &FF 2
RR#EF T 150 a 1 BAEEA IS BE A
RUIFLUEYMT ¢ 200 A 7
" ¢ 100 A 2
" @75 a 1
AN=AILBFITGRIYER) @200 a 2 *AhEe
" @ 150 a 1
" ¢ 100 A 1
" @75 a 1
AZHIBEET EEER) 150 A 2 ANBISUCEEST
" ¢ 100 i 3 AHRED
" @75 = 5
EBHR—b m 135.3 80.0+35.1+6.0+2.2+5.9+1.2+4.9
EKHERT HKEFRE A 0.07 135.3m/2,000H=0.07H




FHE

No.2
BRIR4 E2E g BO | HBE | TEHE B &

HEIFBRET ¢ 200| FHKTFERE L (FETFMH) $200% 150 | 1
ToVUUMFT ¢ 150 i 1
RERET H=800 #A 1
TUIHFET ¢ 200 = 2
RERET H=800 #A 2
HERE L5 3
HOHREL o 150 LI FERETL 150 = 1
FREFZRET H=800 #A 1
BEFRE ® 1
HYHREL ¢ 100 T UIHFERET ¢ 100 = 1
RERET H=900 #A 1
HERE L5 1
HURRET 675|IEUIFREL ®75 = 1
FREFZRET H=800 #A 1
BEFRE ® 1
ERARBETI 25| ERABRET $25 = 1
YR KEFETL RYER) $200x ¢ 25 1@ 1
HENAZEERLAAES 25 A 1
RERET H=500 #A 1
HERE & 1
HWAKEIBL  ([YRLDKREBREIGRUER) ®200x ¢ 40 1@ 1
" $200% ¢ 25 1@ 1
HENOREERLAAES ® 40 A 1
" ®25 = 1
E-—IILEMHRT ¢ 40 m 1.0
" @25 m 25
RUIFLUEMRFT ®40 A 5
TSH#FT $25 m 6
FHHRI—k m 2.5




T I # = X No.1
£ FR BHO% # B 3 = BEtHE
T MZEN-THE
BeKEMET H=800 HrE @ 060 m X 1050 m X 784 m = 4939 m3
H=1000 BREQ 060 m X 1310 m X 167 m = 13.13 m3
H=500 BEQ 060 m X 0760 m X 6 m = 274 m3
R ERYE T H=800 BRE@ 060 m X 0980 m X 78 m = 459 m3
H=900 BE® 060 m X 1085 m X 69 m = 449 m3
H=800 BRE® 060 m X 0890 m X 41 m = 2.19 m3
H=800 BE@ 060 m X 1110 m X 164 m = 1092 m3
=11 87.44 90
HED. @. @ 060 m X 0450 m X 1M115 m = 30.11 m3
B E® 060 m X 0400 m X 6 m = 144 m3
HEWIERLT VIR ¥ E @ 060 m X 0380 m X 78 m = 1.78 m3
BRE® 060 m X 0325 m X 69 m = 135 m3
BE® 060 m X 0290 m X 41 m = 071 m3
=11 35.38 40
HED. @. ® 060 m X 0350 m X 903 m = 1896 m3
BREQ 060 m X 0760 m X 167 m = 762 m3
HEWIERLT FET HTAE) 060 m X 0260 m X 6 m = 094 m3
BRE® 060 m X 0660 m X 69 m = 2.73 m3
ERE@ 060 m X 0490 m X 164 m = 482 m3
=11 35.07 40
BIAET = 4848 m3 50
TRERET (HED. .6 t=15cm RC-40 060 m X 90.3 m = 5418 m?2 54
TERERET (MEQ®) t=10cm RC-30 060 m X 164 m = 9.84 m2 10
RET (HE. 3. ®) t=11cm RC-30 060 m X 296 m = 17.76 m2 18
FEREBET (WEOD.@.6 t=17cm M-40 060 m X 90.3 m = 5418 m?2 54
FERET (WE®) t=8cm M-30 060 m X 16.4 m = 9.84 m?2 10
RAsERZE T(EHE) t=3cm FHFL 060 m X 106.7 m = 6402 m2 64
RAsEHZE T (3538) t=3cm FH AT 060 m X 296 m 17.76 m2 18




T I 8 =& X No.2

5 ]O® # B 4 = RETHME
AEIBAsSHET mmT) |RE (t=5cm) BRI 100 m X 903 m + 5 = 9530 m2 95
MARETER R WA-DOm2EM | HE (t=5cm) | #8440 100 m X 903 m + 5 = 9530 m2 95
AEIBASSHET =#E(AAET)  t=4cm BRI 060 m X 164 m = 984 m?2 10
AEIBAHET $BEAAMKI)]  t=4cm = 060 m X 296 m = 17.76 m2 18
A SHEE AR T t=10cm 903 m X 3 & = 27090 m 271
t=4cm 460 m X 3 & = 13800 m 138

A SRR T t=10cm 100 m x 953 m = 9530 m2 95
t=4cm 060 m X 460 m = 2760 m2 28

IR AsEH = IR BEFE T t=3cm 060 m X 1363 m = 81.78 m2 82
AsTHEE R IEN -0 T = 13.09 m3 13
RBEFER 2A/BH x 20H = 40 A-H 40
HIKEMZT MR YE T H=800 060 m X 0894 m X 25 m = 1.34 m3 1
HEWIERLT TSR 060 m 0234 m X 25 m = 0.35 m3 0.4
BiERLT HE+ 060 m X 0.560 X 25 m = 0.84 m3 0.8
BIAET = 041 m3 0.4
pRAE T t=11cm RC-30 060 m X 25 m = 1.50 m2 2
RAsEHZET t=3cm FEAI 060 m X 25 m = 150 m2 2
KEBASHEL(AABEI] t=4cm BRI 080 m X 25 m = 200 m2 2
AsEHEhR I T t=4cm 25 m X 4 % = 1000 m 10
AsERiEEhRBE R T t=4cm 080 m X 25 m = 200 m2 2
IR AsEH = IR BEFR: T t=3cm 060 m X 25 m = 150 m2 2
AsTHEE R IEM -0 T = 0.13 m3 0.1




6200 HPPE [ Kk &

b)) ® B TE R TR
UEE (m) DIHFNTJ
5 OB W B R |0 ERE - | AR o W=
B
-1 Z.-1 Z.-2 z.-3 .4 (OO (m)
HPPE 200 5. 000 4. 000 1. 000 5. 000 1 1
(=g
HPPE 200 5. 000 3. 000 2. 000 5. 000 1 HPPE
HPPE 200 5. 000 4. 400 0. 500 4. 900 0. 100 2
B = 200
o E
z
z-1 z.-2 Z-3 4 Z-5 HEE|  5.000

HPPE 200 5. 000 5. 000 5. 000
HPPE 200 5. 000 2. 600 2. 600 2. 400 1
HPPE 200 5. 000 3. 600 1. 400 5. 000 1
HPPE 200 5. 000 2. 600 2. 600 2. 400 1
HPPE 200 5. 000 5. 000 5. 000

i 40. 000 30. 200 4. 900 35.100 4. 900 7

40. 000 30. 200 4. 900 35.100 4. 900 7




100 HPPE @ /K % =4 Bid T LA TR
YEE  (m) DHAS)
= Par Pirs A o ; ,/:& t * I
B BWE  BE|OERE " R (m) 2 W %
0 g -
Fi-1 Z.-1 ) Z.-3 2.4 (OO ()
1 HPPE 100 5. 000 4. 500 4. 500 0. 500 1 1
% T
HPPE
o oo
-1 42 43 44 -5 %’%Z 100
1 HPPE 100 5. 000 1. 500 1. 500 3. 500 1
HhE|  5.000
B 10. 000 6. 000 6. 000 4.000 2
10. 000 6. 000 6. 000 4. 000 2



¢75 HPPE W K % b & % Bowd Tl B2 FA T TR
PR (m) DHNT
;e 5]
B mm R |D ERE S RE (m) ST W o
Fi-1 Z.-1 ) Z.-3 .4 (OO ()
1
g
HPPE
o oo
-1 42 43 44 -5 B = 75
HPPE 75 5. 000 2. 200 2. 200 2. 800 1
BH#hE| 5.000
B 5. 000 2. 200 2. 200 2. 800 1
5. 000 2. 200 2. 200 2. 800 1




$150 HiVP Fl K & b B £ Bk i RN TR
UEE (m) DHNS
=1 ft K N &}"f&(m) @JH‘;&I
5 OF M B R |I0OERE z u . a i &
-1 Z.-1 Z.-2 z.-3 .4 (OO (m)
HiVP 150 5. 000 2. 400 2. 400 2. 600 1
ERE
HiVP
B = 150
0 g oE
z
Z-1 -2 Z-3 4 Z-5 HEE|  4.000
1 HiVP 150 4. 000 3. 500 3. 500 0. 500
i 9. 000 5. 900 5. 900 3.100
9. 000 5. 900 5. 900 3.100




675 HiVP B K & B & &£ Bowd Tl B2 FA T TR
UEE (m) DIHFNTJ
X Bk
5w E B |0 ERE S e AT fii
Z.-1 Z.-2 Z.-3 Z.—4 Z-5 O-® (m)
1 HiVP 75 4. 000 0. 700 0. 500 1. 200 2. 800 1
(=g
HiVP
B = 75
HEE|  4.000
i 4. 000 0. 700 0. 500 1. 200 2. 800
4. 000 0. 700 0. 500 1. 200 2. 800




